

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/12/2025 7:15:23 PM

				General De	tails				
Parcel ID:	2	410-0024-0057	70						
Document:	1	Abstract - 0138	33840						
Document Date: 06/01/2020									
			Leg	gal Descriptio	n Details				
Plat Name:		KUGLER							
Sec	ction	То	wnship	R	ange		Lot	Block	
	34		61		15		-	-	
Description:		SW 1/4 OF N	N 1/4	1/4					
				Taxpayer De	etails				
axpayer Nam	e E	BROUGHTEN	SHANE L						
and Address:	Ę	5279 WAHLST	EN RD						
EMBARRASS MI			MN 55732						
				Owner Det	ails				
Owner Name	E	BROUGHTEN							
			•	able 2025 Tax	Summary				
		2025 - Net	Tax			\$11	\$119.00		
2025 - Speci			ecial Assessme	al Assessments			\$85.00		
		2025 - T	otal Tax & S	Special Asses	sments	\$20	\$204.00		
			Current	t Tax Due (as	of 5/11/202	5)			
	Due May 15			Due Octob	er 15		Total Due)	
2025 - 1st Half Tax \$		\$102.00	2025 - 2nd Half Tax		\$10	02.00 202	25 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid		\$102.00	2025 - 2r	2025 - 2nd Half Tax Paid		02.00 202	25 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due \$0.0		\$0.00	2025 - 2r	2025 - 2nd Half Due \$0.0		\$0.00 202	25 - Total Due	\$0.00	
				Parcel Det	ails	I			
Property Addro	ess:	5279 WAHLST	EN RD, EMBA	RRASS MN					
School Distric		2142							
Tax Increment	District:								
Property/Home	esteader:	BROUGHTEN	, SHANE L						
			Assessme	nt Details (20	25 Payable	2026)			
Class Code (Legend)	Homeste Status		Land EMV	Bldg EMV	Total EMV	Def Land EMV	d Def Bldg EMV	Net Tax Capacity	
004	1 - Owner Home (100.00% total)	stead	\$38,700	\$110,000	\$148,700	\$0	\$0	-	
201	0 - Non Homeste	ad	\$32,400	\$0	\$32,400	\$0	\$0	-	
111		Total:		\$110,000	\$181,100	\$0	\$0	324	



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



			Land Do	otaile			
Deeded Acres	40.00		Land D	elalis			
Deeded Acres:	40.00						
Waterfront:	-						
Water Front Feet:	0.00						
Water Code & Desc:	W - DRILLED WE	LL					
Gas Code & Desc:	-						
Sewer Code & Desc:	S - ON-SITE SAN	ITARY SYSTI	EM				
Lot Width:	0.00						
Lot Depth:	0.00						
The dimensions shown are ne https://apps.stlouiscountymn.	ot guaranteed to be su gov/webPlatsIframe/fr	rvey quality. <i>I</i> mPlatStatPop	Additional lot Up.aspx. If th	information can be here are any quest	e found at ions, please email <mark>PropertyT</mark>	ax@stlouiscountymn.gov.	
	l	Improvem	ent 1 Deta	ails (RESIDEN	CE)		
Improvement Type	Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
HOUSE	1955	1,20	00	1,200	U Quality / 0 Ft ²	RAM - RAMBL/RNCH	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	8 20		160	FOUNDAT	ION	
BAS	1	26	40	1,040	BASEME	NT	
DK	1			80	POST ON GROUND		
DK	1	8	17	136	POST ON GF	ROUND	
OP	1	0 0		124	POST ON GF	ROUND	
OP 1		6 10 60		POST ON GROUND			
Bath Count Bedroom		-	Room C		Fireplace Count	HVAC	
				ount		CENTRAL, GAS	
1.0 DATT	2 BEDROOM				-	CENTRAE, OAG	
		-		ils (ATT GARA	•		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
GARAGE	2010	78	-	780	-	ATTACHED	
Segment	Story	Width Length		Area	Foundat	ion	
BAS 1		26 30 780			FOUNDATION		
	Ir	nproveme	nt 3 Detai	ils (DET GARA	AGE)		
Improvement Type	Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
GARAGE	0	720		720	-	DETACHED	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	24	30	720	FLOATING	ING SLAB	
		Improv	vement 4	Details (CPT)			
Improvement Type Year Built				Gross Area Ft ²	Basement Finish	Style Code & Desc.	
CAR PORT	0	360		360	-	-	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	18 20		360	POST ON GF	ROUND	
		Improv	ement 5 [Details (SHED)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
Improvement Type STORAGE BUILDING	Year Built 0	Main Flo 99		Gross Area Ft ² 99	Basement Finish	Style Code & Desc.	
				99	Basement Finish - Foundat	- -	



PROPERTY DETAILS REPORT





Date of Report: 5/12/2025 7:15:23 PM

		Improv	ement 6 Details	s (SHED)					
Improvement Typ	e Year Built	Main Fl	oor Ft ² Gross	Area Ft ² Ba	asement Finish	Style C	ode & Desc.		
STORAGE BUILDIN	STORAGE BUILDING 0		3	63	-		-		
Segme	Segment Story		Length	Area	Foundation				
BAS 1		7	7 9 63		POST ON G	ROUND			
		Impro	ovement 7 Deta	ils (St)					
Improvement Typ	e Year Built	Main Fl	oor Ft ² Gross	Area Ft ² Ba	asement Finish	Style C	ode & Desc.		
STORAGE BUILDIN		28	-	289	-		-		
Segment Story		y Width 17	Width Length		Foundation				
BAS	BAS 1		17	289	POST ON GROUND				
		Improve	ment 8 Details	(LG PB/S)					
Improvement Typ	e Year Built	Main Fl	Main Floor Ft ² Gross Area		Basement Finish Style Co				
POLE BUILDING	2023	,	2,100 2,100		<u> </u>				
Segment Story			/idth Length Area		Foundation				
BAS	BAS 1 35 60 2,100 POST ON GROUND								
	;	Sales Reported	to the St. Louis	s County Audit	or				
Sa	le Date		Purchase Price		CR	/ Number			
0	6/2020		\$90,000		237170				
0	5/1993		\$5,000			90692			
		A	ssessment Hist	ory					
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
	201	\$38,700	\$99,800	\$138,500	\$0	\$0	-		
2024 Payable 2025	111	\$32,400	\$0	\$32,400	\$0	\$0	-		
	Total	\$71,100	\$99,800	\$170,900	\$0	\$0	324.00		
	201	\$33,600	\$70,100	\$103,700	\$0	\$0	-		
2023 Payable 2024	111	\$27,000	\$0	\$27,000	\$0	\$0	-		
,	Total	\$60,600	\$70,100	\$130,700	\$0	\$0	270.00		
	201	\$33,600	\$64,000	\$97,600	\$0	\$0	-		
2022 Payable 2023	111	\$27,000	\$0	\$27,000	\$0	\$0	-		
,	Total	\$60,600	\$64,000	\$124,600	\$0	\$0	270.00		
2021 Payable 2022	201	\$29,200	\$66,800	\$96,000	\$0	\$0	-		
	111	\$23,500	\$0	\$23,500	\$0	\$0	-		
	Total	\$52,700	\$66,800	\$119,500	\$0	\$0	909.00		
		-	Tax Detail Histo	ry					
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land M	Taxable Buil AV MV		l Taxable MV		
2024	\$99.00	\$85.00	\$184.00	\$27,000	\$0	\$0 \$2			
2023	\$105.00	\$85.00	\$190.00	\$27,000	\$0	\$0 \$27,000			
2022	2022 \$749.00 \$85.00 \$834.00		\$44,001	\$46,899 \$90,90		\$90 900			







Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.